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1) Let fand g be differentiable atx =1, such that {1)=1, £(1)=2, g(1)=-2 and

d :
g'(1) =4, then E;(g(x)\/f(?) )

x=1"

48 @ 0 -3 a2

2) Iff(2) = 1, g(x) = In(x’ + 1), and (gof)'(2) = 6, then £'(2) =

a)7 b) -3 @ d) 8

3) The equation of the tangent line to the curve

f(x) =sin’x —x cosx+3 at x = 0 is given by

a) y=x+3

4) The critical point(s) of f{x) =2+

a) 0 only

b) y=x-3 ¢) y=-x-3 )

4 .

- is (are)

b)~2 and 0 and 2 ¢)-2 and 2 d) 2 only
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5) The values of k and m that make

1
flx) = {; X X>1 gifferentiable at x=1 are:

kx—m ,x<1

) ko.me2

¢) k=-1,m=2 d) k=1, m=2

e
a) e* b) e o) e®

7) The value of (¢ ) such that the line y = —x — 4, is tangent to the curve y = cvx

, byc=—2 ¢)c=2 dc=4

——

d*y
8) If 2x%+ yz = 2, then = =

(52 »E 0% 93

Qj One of the following is an inflection point for f(x) = &

X243
2) (-1, 7) b)(0,3) A, 2) A2, %)
IO)WfEx) " - increasing in
a) [~1,1] b) [1,00) c) (—,0] d) [0,0)
i1) f(x) == concave down in
2 -1.1] b) (=0, —1)U(L,0) ¢) (-11) d) [0,0)
12) f(x) = 2= has absolute maximum at

a)x =-—1 b) x=0 ¢) x=1 d) non of these
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